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Topic:- Grad_Nutrition and Health

1) The tool to disinfected syringes and needles use for vaccination is called-/ NpTHIu & ﬁﬂ'{
g Wifee vd gEal & fawsiia $37 ST IuH0T Heardar @ -

1. Autoclave/ 3ficiaid
2. Homogenizer/ g QUIR

3. Centrifuse/ S=ToRIST
4. Socslate/ GiaTce

Correct Answer :-

e Autoclave/ 3Mciga

2) The enzyme found in Saliva in the mouth is:/ '5'5' P R ¥ urar 9F aren UIIgH % -
1. Amylase/THTZeS
2. Lactase/ﬁﬂ%ﬁf

3. Sucrase/ﬁ%
4. Tyleen/crfeH

Correct Answer :-

« Tyleen/craferd

3) How much is the grant amount given to destitute children in destitute child home scheme?/

‘1P aTenTe g # AR o= Bt § 9Im arelt srger wifYy fpat 82
1. 400 Rupee/400 =T

2. 300 Rupee/300 &0
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3. 350 Rupee/350 &0

4. 250 Rupee/250 &0

Correct Answer :-

« 250 Rupee/250 =04

4) The triple antigen vaccine is detached in:/ feUa T=io 1 &1 TvmaT AT @ -
1. In Polio/diferal &

2. In T.B./quf® &

3. In infection diseases/IH™® T H

4. In Hooping cough/ @Teit @i &

Correct Answer :-

« In Hooping cough/ &Tet Wit #

5) Blood clot occurs in the presence of which vitamin:/ Y& &1 YaPT B9 A ferfoq #1 SufRufa &
CEG

1. Vitamin — K/ faerfiq - K
2. Vitamin - £/ facif@=1 - E
3. Vitamin - D/ fae1f@= - D
4. Vitamin - C/ faeifi= - C

Correct Answer :-

e Vitamin — K/ fde1®= - K

6) What is called the High blood pressure, swelling and discharge of protein in urine, in

pregnancy?/ THIaRT ¥ I=T Yaaam, Yol Ue T § WA &1 FASp R 8191 o1 dgardr g -
1. Diabetes/ AYHE

2. Pregnancy Poisoning/ TTHIG®T &t fasTertd

3. Both of the above/IURIS &I

4. None of these/3TH ¥ ®Is ol

Correct Answer :-

« Pregnancy Poisoning/ TTHIGET 1 fasTaraar

7) Which of the following is not beneficial ICDS?/ 9 # ¥ ®I 3. W.EV.uw. & arvifal # =8t 82
1. Pregnant women’s/ TTHat feerat
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2. Lactatic mothers/ Y AR
3. Teen girls/ BN Tfeipr

4. Childrens above 6 years/6 9% q SR & §=

Correct Answer :-

« Childrens above 6 years/6 T ¥ SR & g

8) Structural unit of protein is-/ WdIH P ITATHSD SHTS T 8:
1. Fatty Acid/ 991g 3tal

2. Amino Acid/ ST 3k

3. Gelatin/ foreidH

4. None of these/ 378 T @5 gl

Correct Answer :-

« Amino Acid/ 3rHIT 3T

9) Deficiency of Vitamin—C is: / faeTfir—C @} %t & giar &:
1. Beri-Beri/sR-oit

2. Scurvy/IHdf

3. Rickets/Rarcd

4. Night BIindness/Tcﬁ%ﬁ

Correct Answer :-

. Scurvy/WT

10) Cretinism in children is a deficiency of:/ ¥= & PHfef I@T ST ® -
1. Iodine/ SIS I HHI

2. Iron/ Tig TT0T &t HH T

3. Potassium/ Ui &1 HHT

4. Magnesium/ BRI &1 Bt ¥

Correct Answer :-

o Iodine/ 3MAISH B HH I

11) Deficiency disease of Vitamin—C is:/faei?H—c &1 &t & 11 aram 377 3-
1. Scurvy/la"»_cﬁ
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2. Beri—Beri/éﬂ—éﬂ
3. Night BIindness/?_c?f‘c‘ﬁ
4. None of these/3TH I P gl

Correct Answer :-

. Scurvy/w

12) Which disease is for the treatment of DOT's?/3Ted (DOT’s) f&d A7 & IR & o &2
1. Measles/AIRT
2. Malaria/gaiRan

3. ChoIera/%TrH
4, T.B./A&

Correct Answer :-

. T.B./AlS

13) Jaundice is transmitted by whom?/ WferaT I f5ad gRT yenfiva giar @ -
1. Air/ IR

2. Water/ 9dd

3. Sunlight/ YU

4. Soil/ Jarl
Correct Answer :-

o Water/ oid

14) Which of the following vaccine is given to the pregnant women?/f 4 A q HF A awi=
Mgt afger & § S 22

1. Tetanus/ﬁm

2. DPT/SLLAN.

3. OPV/3. UL,

4. All of these/SURIeRT THT

Correct Answer :-

. Tetanus/léé:m

15) How many tablets of iron folic acid carte given to the women during pregnancy?/ YR &

R ATl BT RRA Bifers YRS ot fea-t miferat & i 82
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1. 1000

2. 900
3. 100

4.10

Correct Answer :-

« 100

16) Which is the nutrient that provides energy to our body?/ AR TR & Sl UG S arer
UIy® o DI O 82

1. Carbohydratelmﬁg'd

2. Fat/ 941

3. Both of the above/JWRIad GHI
4. None of these/3TH I ®1s Ta!

Correct Answer :-

« Both of the above/IURIad GHl

17) The method of growing nutrients is-/ 1Y dd Rﬁ #1 T® fafy ?
1. Sprouting/3{HRUT

2. Boiling/3dTcIT

3. Grinding/dI1

4. Soaking/IIIcl AT

Correct Answer :-

« Sprouting/3{pTT

18) The weight of a healthy and well fed mother's child will be-/ TR 3R UIfta arar & gy &1
o e g -

1. 3.5 Kg./3.5 fob. 3.
2. 4.5 Kg./4.5 f&..
3. 2.5 Kg./2.5 f&..

4. 2.0 Kg./2.0 f&..

Correct Answer :-

« 3.5Kg./3.5 fob. 7.
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19) What is the risk of vitamin - K deficiency in pregnant mother's diet?/ T¥ad #raT & 3MeR A
faeIfir - K @1 &3t @ fraeT TR 8 9T 82

1. Under-weight infant/ &8 aoi- &1 fRIg]

2. Bleeding in infant/ FaoITd fRI%] & Yadva@
3. Breathing problem/ Ta¥ Taet TR
4. Low oxygen/ 3o & dHH!

Correct Answer :-

« Bleeding in infant/ =TasTd fRIY] H Yexela

20) If the quantity of nitrogen produced by food through the protein is greater that the quantity
emitted is called:/ YIS & GRT WA & TIHH | ATSCIOM S @l T3 WHAT Icdford WET | St gt ot

PEATAT @ :

1. Positive Nitrogen Balance/Y-TdHD AIg¢ ST \Ligmd
2. Negative Nitrogen Balance/> Ul & :ﬂ%@\_ﬂ:{ BLNE
3. Nitrogen Balance/ATgg o T

4. None of these/3TH § ®13 Tal

Correct Answer :-

« Positive Nitrogen Balance/4-T® ATgcIo Jgel

21) Enzymes supporting digestion of carbohydrates is-/ PIare & g § Helddh TIIgH %:
1. Maltese/ HAlees

2. Suches/ W
3. Both of the above/G'CIﬁTﬁ G|

4. None of these/3TH q P gl

Correct Answer :-

« Both of the above/ITRIad aiHI
22) Deficiency disease of Platelets is:/@eded @t Ul A T Bl -
1. Diabetes/AYHg

2. Dengue/ST]
3. ChoIera/%TrlT
4. Malaria/HaRar

Correct Answer :-

« Dengue/ST
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23) The main remedy for preventing infection diseases is-/JhTHD A A FEG BT H8T U™ % -
1. Morning walk/ UTd: <gdHl

2. Sit in the Sun/ 40 H ST

3. Take nutritious diet/ TP MR AT

4. Vaccination/ & TRTEHT

Correct Answer :-

« Vaccination/ ¢ TIEHT

24) Main ingredient in the formation of thyroxin hormone is-/ YRRIfG grIT= & fwior &1 yg@
TP ¢ -

1. Sulphur/deth]

2. Iodine/&@@ﬂq

3. Magnesium/a3fRH
4. Chlorine/ﬁﬁ‘ﬁﬁq

Correct Answer :-

o Iodine/3MSH

25) deficiency of the brain causes brain cells to lose-/ ot FU A M R F
AfRrss # HIRGH T 8 e € -

1. Protein/gieH
2. Vitamin/faerfi=
3. Minerals/tqﬁﬁf

4. Fat/adi

Correct Answer :-

o Vitamin/faeTie

26) Which of the following Genetic disease is:/ % & q H17 aif® 71 8:
1. Hooping cough/ Tcil @it

2. Hemophilia/ gramifer

3. Aneamia/ THAT

4. Plague/ W

Correct Answer :-
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« Hemophilia/ 8T Iferar

27) Essential element of hemoglobin is-/ﬁ'ﬂ}’?ﬁﬁ:{ BT TdRY D dcd % -

1. Calcium/&fexras

2. Iron/3TORA
3. Iodine/S-ITEhZCﬂ:r
4. Potassium/théﬁrqt{

Correct Answer :-

28) The disease caused by malnutrition is:/ ?lﬂ'EI'UT & HRUI I araT INT %—
1. Kwashiorkor/ HIRARB

2. T.B./ &

3. Typhoid/ <CWTIS

4. None of these/ 378 T ®Is gl

Correct Answer :-

o Kwashiorkor/ & YARE

29) The main function of carbohydrate is:/ ma’fs@? BT ST ®d g
1. Growth and Development/ i Td fds™

2. Give energy/ 3ol Y& Bl

3. Generating resistant capacity/ I UfcRIU® &HdT I HIAT

4. None of these/ STH ¥ ®Is -Tg

Correct Answer :-

» Give energy/ ISl UeM Bl

30) How much protein required for adult women?/ U&% 9O3% Hfgel &1 MEH & smagaedr fea-t
14

1. 55 gram per day/55 9™ Ufdfea
2. 70 gram per day/70 9™ Ufafea
3. 65 gram per day/65 IH Ufdfe

4. 75 gram per day/75 I ufafeq

Correct Answer :-
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« 55 gram per day/55 I Hfdfa

31) Requirement of iron for pregnant women is-/ et Wit & o ?ﬁ? qcd B MaRYD AT %—
1. 38 Mg./Day/38 fr.m/fe=
2. 26 Mg./Day/26 &.31m./e
3. 44 Mg./Day/44 .3 /e

4. 45 Mg./Day/45 .. /fdA

Correct Answer :-

« 38 Mg./Day/38 &.311./f/a

32) The disease spread by Air is:/ 919 gRT e araT IRT %:
1. Cholera/ %GIT

2. Chicken Pox/ EEC

3. Plague/ @I

4. Rickets/ Rdbcq

Correct Answer :-

« Chicken Pox/ Tdd

33) In which year the national Health policy was approved by the Government of India?/ HIRd
PR RT AP FA i BT SrFHe fa au & fear mare

1. 1983
2. 1978
3. 1975

4. 1980

Correct Answer :-

» 1983

34) Vaccine of which disease is not available?/f#a AR &1 T SUTy 7Y 22
1. Dengue/ ST

2. Measles/ WIRT

3.7.B./ ¢4l

4. Hooper Cough/ Tl @it

Correct Answer :-
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» Dengue/ ?ﬂl

35) Transportation treatment plan for delivery is available to:/ ¥4 %ﬁ f¥as IUER ST
IUTH 3:

1. Only for women’s/ dhad Afgesii &g

2. Only women of SC/ST/ ohad TH.¢1. / T. 41, Afgamsii g
3. Only women of OBC/ FHad ﬁ@?ﬂ g7t afgansi %ﬂ

4. For women and children/ Afgeaf Td =i 5q

Correct Answer :-

« Only women of SC/ST/ %ad TH.<Y. / 9.1, Afgamsif &g

36) Which vitamin is obtained from sunlight?/ U & AIS &1 S AT f3er¥= ure ghar 8?2
1. Vitamin-D/faeTf&=-D
2. Vitamin—C/fdeif@=-C
3. Vitamin-A/fdei@=-A
4. Vitamin—K/faeTfi-A

Correct Answer :-

« Vitamin-D/fdeii=-D

37) When the Deendayal Antyodaya Treatment Scheme was started in the state?/ IToY |

IHeUTd Srdiey ITAR TISHT $F URYH B T3 ?
1. 15 September 2006/15 fdsR 2006 H
2. 26 September 2004/25 RidsR 2004 H
3. 25 September 2008/25 fader 2008 &

4. 15 September 2003/15 f¥daR 2003 &

Correct Answer :-

« 26 September 2004/25 Rid&R 2004 #

38) Rota-virus vaccine prevents from the disease: /el araRy &t A9 # § frg Furt 4 a9
PRATE :

1. Cholera/ %\‘:ﬂ

2. Diarrhea/ @&

3. Skin disease/ T AT

4. None of these/ 3:113[ q ﬁé T8l
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Correct Answer :-

o Diarrhea/ a¥d

39) The age group of girls benefiting from the 'Rashtriya Kishori Shakti Yojana'-/ ?Tfl’l'l =t
et FieT & AruTf=ad g arelt arfereTa o1 omg @t § -

1. 11-18 Year/11-18 9§
2. 5-12 Year/5-12 9§
3. 6-14 Year/6-14 94

4. 10-15 Year/10-15 9%

Correct Answer :-

o 11-18 Year/11-18 a8

40) Which disease causes women's waist to bend?/f&® I & SR Frd] 1 HIR P &relt o2
1. Marasmus/ ARSI

2. Osteomalacia/ 3RCAHARM™AT

3. Kwashiorkor/ HIRARE

4. None of these/ 378 T ®Is gl

Correct Answer :-

« Osteomalacia/ SR RRT

41) Main function of iron is-/Eﬁ's’ QU DT =T Cau %—
1. Transport of Oxygen/3{TaITo- &I URag

2. Transport of Hydrogen/8T8SIoI &1 URag-

3. Transport of Protein/WicH &I uRag—

4. None of these/3 T8 I D15 Ta!

Correct Answer :-

« Transport of Oxygen/3fidilo &1 URdg"

42) The vaccine which is given by mouth is:/Hqd ¥ fear s aren a1 %:
1. Polio/difcra

2. B.C.G./d.ELS.

3. Hepatitis/%’ﬁagm

4. None of these/STH ¥ ®I5 g1
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Correct Answer :-

. PoIio[Cm%I'@f

43) Which part of the body is affected in Jaundice?/ Wiferar A1 & IRR BT H19 A1 37T gHIfaT gYar
?

1. Liver/ 9pd
2. Kidney/ 11%

3. Intestine/ 3fid

4. Pancreas/ HRY

Correct Answer :-

 Liver/ god

44) Which of the following is not a common symptom of pregnancy?/ i &  J THfTRIT ST IH

&I TE §2

1. Frequent Urination/dR-dR URIE 3T

2. Vomiting/3fecat gHT

3. Dizziness/ddh AT

4. Feel embryo's heartbeats/ﬂzl;\’UT Gl W ifﬂ'ap ol

Correct Answer :-

e Dizziness/dddH I

45) Vitamin affecting fertility is: /WS- &Hdl P yuTfad H= arer faerf™ = 8:
1. Vitamin — E/fdeti@= - E

2. Vitamin — C/fdetidg - €

3. Vitamin — A/fdeTd — A

4. Vitamin — D/fdeT@= - D

Correct Answer :-

e Vitamin — E/fdeifi— - E

46) Factors which are responsible for malnutrition is:/ $UIYUI g SFATR $R® T -
1. Poverty/ fRefar
2. Illiteracy/ ST

3. More population/ 3ff& SR
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4. All of these/ ITRYad et

Correct Answer :-

o All of these/ IURIad g+

47) Night blindness is the deficiencyof ____ /T Ame fuf__ #iwW A @ e -
1. Vitamin—A/fdeTia-A

2. Vitamin—C/fdetfi=-c

3. Vitamin-D/fdeT@=-D

4. None of these/ 370 ¥ ®13 gl

Correct Answer :-

« Vitamin—A/faeTi=-A

48) Goiter is a deficiency of-/ 9T I fhH dcd B! HH 4 3T 8-
1. Iron/3RERA

2. Vitamin—A/faeTi=-A

3. Zinc/ S

4. Todine/ 3MASH

Correct Answer :-

« Iodine/ 3MAEH

49) The National institute of infection disease is located in-/ ITPTT HHTHD INT HRIM Hai R 3:
1. New Delhi/ =78 faeeit

2. Lucknow/ 913

3. Chandigarh/ ﬂ?ﬁﬂ'@r

4. Bhopal/ HuTet

Correct Answer :-

¢ New Delhi/ 7-|§ fowlt

50) Polio virus nourishes in which organ of human body?/tﬁﬁl'!ﬁ Ca) ﬁ"SlTUj Y ¥ b o # dror
HRa1 3?2

1. Intestine/3ifd |
2. Kidney/fdst &

3. Blood/3ad H
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4, Longs/m |

Correct Answer :-

o Intestine/3fid H

51) Body weight of women in pregnancy-/THfawiT # afger &1 Iif® aeH-
1. Should Increase/de-Tl ElIY

2. Should Decrease/EIFiTilT%';I

3. Should stable/fRR g1 =feT

4. None of these/ 378 T ®Is gl

Correct Answer :-

« Should Increase/Sg-T @lieY

52) What is Balance diet?/ Jgferd 3meR f@d ogd 8?2

1. Which contains the right food items/ fSr9H 3fera Wme gemif &1 gHRw §

2. In which all the nutrients are in the proper proportion/ fored Tt Tive da Ifad srurd & &f
3. Which is digestive, attractive and interesting/ gurd, HHYD T Tl gl

4. All of these/ SURIeT FHT

Correct Answer :-

e All of these/ IURNad g+

53) Diabetes occurs in pregnancy is caIIed-/lT‘l-ﬁﬂ@n s i ﬁef dredt m:[ﬁg hgdldl % -
1. Juvenile diabetes/\_rﬁqm ﬂ‘é@'@'

2. Gestational diabetes/SIRCRIA HYHE

3. Type - I diabetes/cIgU | T{ﬂ'ﬁ's’

4. Type -II diabetes/cRY || AYHT

Correct Answer :-

« Gestational diabetes/SRCFd HYHT

54) Deficiency of calcium is:/ Ffrmm Ht FH J B arelt A %:
1. Osteomalacia/ 3R

2. Osteoporosis/&mm

3. Both of the above/SURId G
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4. None of these/stl'ﬁf J ﬁ?f BEl

Correct Answer :-

« Both of the above/IURIad GHl

55) The disease spread by viruses is:/ ﬁNTUJGﬁ RT Hem arell fart S @ %:

1. Typhoid/CO®ISS
2. Malaria/ﬁﬁﬂm

3. Flue/%],
4. None of these/3T8 q P gl

Correct Answer :-

Topic:- Grad_General Knowledge and Logical Ability

1) Which Act gives protection to women from being kidnapped and

compelled to become prostitutes?/ P-1 Srfufaw afgare &t AUgd ﬁm’\?l'ﬁ(fa
argfy W e fpe o & faes gran a1 82

1. The Criminal Law Amendment/ MR fafer Teme

2. The Family Court Act/ $ ¢ I fafram

3. The Indecent Representation of Women Act/ AfRarsf &1 3iys fARegur sifef=awq
4. The Immoral Traffic Prevention Act/ 3fAfd® SgaamR ARy sifdfaam

Correct Answer :-

« The Immoral Traffic Prevention Act/ ﬁﬁwmﬁﬁu&m

2) Green revolution in the 1960s was associated with:/1960 & &= H g% givd
EQIE| q g @

1. Use of HYV seeds/HYV diSl & SUaRT

2. Milk production/ gi¥ 3T

3. Fisheries development/ e fae
4. None of the above/ IWidd H I HIs -Tg

Correct Answer :-

« Use of HYV seeds/HYV &Sl & ST
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3) Agricultural Technology Information Centre (ATIC) has started
functioning from / $Y WS @1 F% (ATIC) B YFTd fFa ad ot 15 A

1. 1998
2. 1999
3. 2000
4, 2001

Correct Answer :-

- 2001

4) The 73'9 amendment act of Panchayati raj was done in:/ Tl I
Sffray o 73ai AxMY 59 a9 fpar T oT:

1. 1991
2.1992
3. 1993

4. 1994

Correct Answer :-

« 1992

5) Fertilization of ova in humans takes place in:/ Hﬁﬂﬁ T 3is SR &1 8T o giar %:
1. Ovary/3iSRI™

2. Vagina/tﬁﬁ

3. Fallopian tube/SaUT et

4, Uterus/‘THfQW

Correct Answer :-

« Fallopian tube/Balua AfreT

6) How many types of digital computers are there?/ f&fRicd $e? frad UHR & 814 7?2
1. Two/ &

2. Three/ ikl

3. Four/ IR

4. Five/ Uid

Correct Answer :-
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7) Which among the following scheme provides scholarships to persons with
disabilities to pursue higher education such as MPhil and PhD?/ Eﬁ@?ﬁ:{-ﬁ

Qo1 feaaiTel & Taftrd vd freast s Swaz fiem um & fore smgfai 3 32

1. Scheme of National Scholarship for Persons with Disabilities/ f&aaiTTe T BEGHRI
EIEEl

2. Comprehensive Education Scheme for Disabled Children/ f&aiT STdd| g Tde fRiar
o1

3. Rajiv Gandhi National Fellowship Scheme/ 3Tsita it I§TT reddTqfy (heilfRi) e

4. Inclusive Education for the Disabled at Secondary Stage/ featas® sawi ¥ feagireH!
39 TmTaRh e

Correct Answer :-

. Rajiv Gandhi National Fellowship Scheme/ Tsiid i€t ST feAdTghi (GalfRig) TrerT

8) Pointing to a woman, a man said, “"Her husband’s mother is the wife of my
father’s only son”. How is the man related to that woman?/U& Afgdl &1 U=g
HIA §U TH T3 A Hgl “"ITd ufd &t AT, A fUar & var g3 &1 uell 31”7 39 7oy &1 39
afgen & war way 32

1. Father / foar
2. Brother-in-law/dTdl
3. Uncle /Tl

4. Father-in-law/3d{x

Correct Answer :-

« Father-in-law/dJX

9) Which of the following hormone is also known as “the emergency hormone”?/ ?Fl'ﬁ I fra
" TITAH T gra o HgT ST 82

1. Thyroxine/ YRRITRTA
2. Gonad stimulating hormone/ THE WA gEH

3. Adrenalin/ Q:i‘ qfer
4. Estrogen/TRg o

Correct Answer :-

e Adrenalin/ Qg qferq
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10) SGSY is a scheme for the:/ SGSY T $9 G &:

1. Infants/ R

2. Farmer/ foam

3. Women/ Afgdy

4. Poor People/TI'\ﬁ'd S|

Correct Answer :-

« Poor People/TI'\ﬂ'd S|

11) ‘Ctrl + V' depicts:/ ‘Ctrl +V’ UcRid Ha1 8:
1. Cut/ &c

2. Bold/ §icS

3. Paste/ U

4, Save/ g

Correct Answer :-

o Paste/ I

12) The average of six numbers is 35. If each of the first three numbers is
increased by 3 and each of the remaining three numbers is decreased by 5,

then the new average is:/ B8 Y@&I13{l ®T 3d 35 &1 TS Ugelt 3 G A A+ # 3
FI gfg B < wTe 3R Ay i F=msi # yde | 5 ger fou w1t atf 747 39 8:

1. 35
2.34
3.31

4. 30

Correct Answer :-

13) 18 women can complete a work in 12 days and 12 men can complete the
same work in 9 days. In how many days will 8 men and 8 women complete

that work?/ 18 AfREE T 1 & 12 fal & 1 & 9ol € 3R 12 Py A F1U FH1 9
o & qR1 B TPd €| 8 YoV 3R 8 Afgerd It B P fpam farf & W1 H2 Toa &2

1.9 days/ 9 fad
2. 6 days/6 fad
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3.12 days/12 faa

4.8 days/8 faA

Correct Answer :-
« 9days/ 9feA

14) Which is the year for ‘The Declaration of the Rights of Child’/ PI-91 T
‘g1 fYPRY F Ty’ &1 a9 32

1. 1967
2.1962
3. 1960
4. 1959

Correct Answer :-
« 1959

15) Genetic identity of a human male is determined by: /HTHd 7R 31 ATIARIH Uga gRT
Fruifea gt &:

1. Autosomes/ TR
2. Nucleolus/ =T

3. Cell organelles/&IRIGI
4. Sex chromosomes/feiT UG

Correct Answer :-

« Sex chromosomes/fciT TUREAT

16) The Women Empowerment Year was celebrated in the year:/ u‘s'q'cfu%m
TRIGAHRVI a8 & =9 H J=RIT T[T

1. 1991
2. 2001
3.1981

4.1971

Correct Answer :-

- 2001
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17) The primary male sex hormones is: /31 R = E»'Tﬁ-‘-[ %:
1. Lactase/ Tdew

2. Leptin/@@:[

3. Estrogens/T IS

4. Testosterone/ SRR

Correct Answer :-

o Testosterone/ RS

18) DWCRA was started in the year:/ DWCRA a%’r‘gmnag's‘ A
1. 1982-83
2.1983-84
3.1984-85
4. 1985-86

Correct Answer :-
« 1982-83

19) A bag contains Rs.1, 50-paise and 25-paise coins in the ratio of

4:5:6 respectively. If the total amount of money in the bag is Rs.32, find the
number of coins of one-rupee. / T®H aﬁﬁ'??.l, 50 09 94T 25 U0 & Ry & T=I
U 4:5:6 & Jurd ¥ g1 afe Aa A Fa RN 3. 32 71, 0t .1 & Rygs! 3t w=m g9
Piforai

1. 16
2.22
3.14

4. 18

Correct Answer :-

20) ATMA was envisaged in the year:/ 3TT (ATMA) &1 Y[F3(Td 59 a4 # §3:
1. 1996
2. 1997
3.1998
4. 1999
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Correct Answer :-

« 1997

21)

DIRECTIONS: In the question given below, there are few statements followed by
few conclusions. You have to take the given statements to be true even if they
seem to be at variance with commonly known facts and then decide which of the
given conclusion logically follow(s) from the given statements../

frdan: < fau U w=A ° 0 $YF 3R 3uF 91 7o freawd fag e §1 smuwt fou e Syl

P g HIEAT 8, Hd g1 3 gdyma gl 9 fa=1 wdfia g gf | 3+ fseput &) ufee fee au

gﬁuﬁmwﬁwﬁﬁﬁﬁqmaﬁmwﬁmm%ﬂﬁmawwm
|

Statements: /HYA:

Some trains are trucks. / $© YS! W%I

Some trucks are boats. /Wgﬂiﬂﬁﬁl

No boat is jeep./aﬁ's:qﬁ\_rﬂ'q?é’fgl

Conclusions: /fsp:

I. Some jeeps are trains./ $© SilU YISt &

II. Some boats are trains./ $® ATd YS! &

II1I. Some jeeps are trucks./ W\‘rﬁ'ﬂ@"&i%

1. If only conclusion I follows /Zﬂ%mﬁf&b‘ﬁh &IT;NTUTW%
2. If only conclusion II foIIows/U%mﬁEb_ﬁf II GFETUTW%
3. If only conclusion III follows /U%Wﬁmﬂf IIT RO Hdl
4. None follows/ @13 H 3 aRur 98 Har g

Correct Answer :-

« None follows/ &3 H} 3TTR0N T& BT §

22) Aman and Suman start walking from the same office and walks in
opposite direction, each travelling 10 km. Aman then turns left and walks 10
km, while Suman turns right and walks 10 km. How far are they now from

each other?/ 3/ 3R U= & & wratad A faudta fazm & ga1 3= #34 8,3k Td®
10 et o1 gt a9 T 3| TP I1E U T GSHR 10 P Tt g 79 FRa1 3, S9F
O g1 geav 10 fot $t g au AT 3| I TP g A fpait gl R g 2

1. 0 km/0 foot
2.5 km/ 5 fpHT
3. 10 km/ 10 foHt
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4. 20 km/20 fodT

Correct Answer :-

« 20 km/20 foHT

23) “Startup India” scheme was started in the year:/ "®T¢3U sf&ar gieHm &t
Y aTd forey af g% i

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-

« 2015

24) In MS Office, word processing is done in:/ THEZH 3fpe 'l?f, ?ﬁﬁ?{l&" TRIEH T T ST %:
1. MS-Word/ THUH-a8

2. MS-Excel/ THUH-TRTA

3. MS-Access/ QTIQHQER?N

4. MS-PowerPoint/ THIH-UTGR WIgC

Correct Answer :-

« MS-Word/ THUH-T8

25) Which among the following happens when parts of the skin and tissues freeze due to low

temperature?/ $H ATYHTT & HRUI @9l & U 3R FHad] & oH 91 TR 397 T F91 8T 872
1. Frozen shoulder/ &1 SIh S ST

2. Frostbite/ JURGRT (ThIRCHTRC)

3. Fever/ §OR

4. None of these/stl'ﬁr I ﬁ's‘ :l?ﬁ

Correct Answer :-
« Frostbite/ JURGRT (hRCARC)
26) The full form of NGO is:/ NGO ®T QT ATH &:

1. Non-Governance Organization/ TR-GR&BT} TiTaA
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2. New Governmental Ordinance/ T ISTH T TSR

3. Non-Governmental Organization/ IR-TRHTR} T3

4. New Governmental Organization/ T IRBHRT e

Correct Answer :-

. Non-Governmental Organization/ TR-TGRHR} T

27) Which of the following legislations is applied to the unorganized sector
workers in India?/ HRRd ¥ RIS &7 & Al & T 390 A SI-91 ST arL gar
a2

1. Minimum Wages Act/ =J7dd da- ifafaq

2. Child Labour (Prohibition and Regulation Act), 1986/ aTd ¥ (MY T fwm) sifeifam,
1986

3. Contract Labour (Regulation and Abolition Act), 1970/ 3faf=id 9| (FTHH Ud I3 cH)
sffafad, 1970

4. All of the above/ B‘Cﬂiﬁ gt

Correct Answer :-

« All of the above/B'q'?iaﬂ‘v'ﬂ-ﬁ

28) Which answer figure will complete the pattern of the question figure? /

e d A i A 3R spfa wy snpfa &t guf wvft?

A
A

4.

Correct Answer :-
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29) Discrete data refers to:/ fafay siws) &1 <Y 3:
1.0, 1
2.1,2
3.2, 3

4.3, 4

Correct Answer :-

30) Six stages of moral development were proposed by:/ Afd® faera @1
SRITSM Bl = wTtad foar ur:

1. Martin Hoffman/H1¢ gTHAA
2. Jean Piaget/SiH fUge!

3. Sigmund Freud/RFTHS Wigs
4. Lawrence Kohlberg/?lﬁ?‘[aﬂ?@'f

Correct Answer :-

« Lawrence Kohlberg/EﬁTﬂ PITaI

31) A person has to reach a certain place at a certain time and he finds that
he will be 15 minutes late if he walks at 4 km/hr and 10 minute earlier, if he
walks at 6 km/hr. Find the distance he has to cover./w?ﬂﬁmﬁ?ﬁ){m?ﬁﬂﬁr
q Trdr © df 15 FiTe 38 A ugTar 31 g 5 a8 6 forri/ger Y nfa @ wear @ at 10 e
Ugd Ugd SITdT ¢ | IS a1 $i g3 F1d B

1. 3 km/3 T
2. 4 km/4 Tt
3. 5 km/5 ot
4.6 km/6 Tt

Correct Answer :-

« 5km/5 foHt
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The computer which works on continuous data is:/ FRGR HSI W HTH HIA AT HHLI Heardl

f

1. Digital Computer/ f&fSied degex
2. Hybrid Computer/ gT3fsig &R
3. Analog computer/ TTANT ST
4. Dell computer/ S& HLX

Correct Answer :-

« Analog computer/ AN SR

33) The society which facilitated setting up of grain banks in different

regions is:/ ﬁrwaﬁﬁamaﬁa%wmaﬁwaqﬁwﬂ@m%

1. Amul (Gujarat)/ 3HT (SIRIA)

2. Academy of Development Science (Maharashtra)/ ThsH! 3t SadUHE IIeg (HBRIY)
3. Mother Dairy (Delhi)/HaR STt (faeril)

4. None of the above/3WIdd ¥ ¥ HIs ol

Correct Answer :-

« Academy of Development Science (Maharashtra)/ TheH! 3 SaauHc qsd (HERIY)

34) What is the cause of angina?/UsITg-T (E‘I‘c’ﬁ k| 3?5') DT DPRUT HIT %?

1. Insufficient blood reaching the Iungs/ﬁv'qv_e_ﬁ TP I5d Ui AR H tIE?Fﬂ

2. Insufficient blood reaching the brain/ ARaSp T 394 Ul 76 & UEEFH

3. Insufficient blood reaching the leg muscles/ Wi o1 Rl 9 Jaa srgafe amn & 1ZIEEHT

4. Insufficient blood reaching the heart muscles/ §&d UMl T Xad e Amm o CREEI

Correct Answer :-
« Insufficient blood reaching the heart muscles/ gad IR/l T Iad o THT & UgaT

35) DIRECTIONS: Find the missing number. /{31 T H&T J10 B |

9 |12
7 |?

1.21
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4. 14

Correct Answer :-

. 14

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / 391 fFruafaRaa vy A vyares fore (?) M
TR T I T AT STT?

92 % of 7500 + 50 % of 11000 — 1895=? / 7500 T 92 % + 11000 &HT 50 % — 1895 =
?

1.10,870
2.9900
3.9200

4. 10,500

Correct Answer :-

37) Food security means: /dT<l & Bl qd g
1. Availability of food/HIS &1 ITAIT

2. Accessibility of food/ YIS &t RIAT/ gl

3. Affordability of food/ YIS &1 fHHRIT §IHT

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iudad g+t

38) In which part of the country, grain banks have been set up by the

NGOs? /3 & o YT # Y IR IR (NGO) BRI 3 9 RTfUd fpu e 82

1. Gujarat/TSRId
2. Haryana/ g

3. Punjab/ USTTd
4. Maharashtra/HgRTY

Correct Answer :-

« Maharashtra/HgRTY
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39) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodar: frafafaa uy o usars e ) &
R THIT DI AT | T2

7441 = 34 x 12 =? x 9 + 110
1. 460
2. 280
3. 520

4. 350

Correct Answer :-

« 280

40) ‘Digital India’ was implemented in the year:/ fSfSrea sfEar @t 3R=ama su ad
H g%:

1. 2005

2. 2009

3.2014

4. 2016

Correct Answer :-

- 2014

41) A dishonest shopkeeper sells goods at cost price but uses 900 grams in
place of 1 kg weight. What is his actual profit percent’/@ﬁ'&‘ﬂﬂw
DI TN Yo W 99T ¢, mgaglﬁv—cﬁ%wmuwoomaﬁam%a‘rmmumm
Td DI

1
11;%
1115')"

. 8"
3.11%

4. 9%

Correct Answer :-

1
1o
'l'lgff::-
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42) DIRECTIONS: Find the Mirror image of the given figure./ foq=r: & it ampfa

&1 quuT ufafae 91 1

Question figure/ UH swh

- M

Answer figure/ 3dX 3"?%
(@) (b) (<) (d)

l.a

2.b

3.C

4. d

Correct Answer :-

b

43) The first state to implement Panchayati Raj was:/ YAl ITel SqaRIT A1)
P qTdl UgeT I0Sd U

1. Rajasthan/ ISR
2. Uttar Pradesh/ STR Ue¥I

3. Tamil Nadu/ dfAeHTg

4. Assam/3T™{H

Correct Answer :-

« Rajasthan/ SIRYTH

44) If ‘bucket’ is known as ‘tub’, ‘tub’ is known as ‘glass’, ‘glass’ is known as
‘saucer’, ‘'saucer’ is known as ‘spoon’, then which utensil will be used for
drinking water?/ af¢ ' ST &) ‘Ta’ Fel oTal 8,” <9’ B e’ $e1 war g, Rrerar
D TR BT ST 3 3R AR’ P T’ HFT ATdl ¢ af gt Wi & e A9 91 adq
swiTa fhar |Tgm?

1. Tub/ cd
2. Saucer/ REGE
3. Glass/ T
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4. Spoon/ dHd

Correct Answer :-

« Saucer/ REGE

45) DIRECTIONS: Choose the missing terms out of the given alternatives./

frdw: fou e fawenl § & g e 91d o |
a-ba-b-b-a

1. abba

2. bbab

3. abaa

4. aabb

Correct Answer :-

- bbab

46) What is Anaphylaxis?/ TATfbaqa™ T 82
1. Choking/<H geT
2. Serious type of allergic reaction/ TRIR UHR Pt Tatoids Ufdfehar

3. Type of liver disease/ T UHR &I Il W

4. Heart attack/ gcdrdld

Correct Answer :-

« Serious type of allergic reaction/ TR UHR &1 Tafoie ufafdpar

47) Key board and mouse are examples of:/ P §Is g ATSH PP IIEII &:
1. Input devices/ g7c 3UHRTT

2. Output devices/ 3T3cYc 3UDRU

3. Digital devices/ fSfored SusmRr

4. Micro-devices/ HATSghI-3UHRUT

Correct Answer :-

 Input devices/ TTYC SUDRT

48) Salary of Ananya is first increased by 20%, and then it is decreased by

20%. Change in his salary is:/ 3701 & 9d-1 & Ugd 20% $I g # 75 3R fFe IR
20% Ht FH F 1| ITP 9a- A uRkad< 3:
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1. 4% decrease /4% HH
2. 4% increase/4% q@
3. 8% decrease/8% HH!

4. Neither decrease nor increase/= &H! :[q@

Correct Answer :-

e 49% decrease /4% HH

49) Annapurna Scheme (APS) meets the food requirements of:/ 3AYUI AT
(APS) B Yo sraxadarsit @ guf st 8

1. Indigent senior citizens not covered under PDS/ PDS § wﬁmﬁrﬁqaﬁgwﬁﬁ
2. Children/ S=i1

3. Pregnant ladies/ mad) el

4. Young persons/ gar3{f

Correct Answer :-
. Indigent senior citizens not covered under PDS/ PDS # 3RIRfard fAe afvy et
50) ‘Ctrl + Z’ depicts:/ ‘Ctrl + 2’ USRfd H3a1 &:

1. Ungroup/3f44
2. Combine/ SaTg

3. Undo/ 3
4. Redo/ Rg

Correct Answer :-

51) Count the number of triangles in the following figure./ {5 3efa & Ay
1 H-IT J1d Y |

2.12
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3.9

4. 10

Correct Answer :-

52) What will be compound interest (in Rs.) on a sum of Rs.10,000 at the rate
of 5% p.a. after 2 years?/ %.10,000 31 IR W 5% TS Bl & A 2 T H Thgfex AT (3.
#) =7 gnfle

1.1025
2. 1560
3.1160

4. 1550

Correct Answer :-

« 1025

53) DIRECTIONS: Study the following pie chart carefully and answer the
question given below./ f32r: fAufefad urs =rd &1 o9 ¥ Sregg &R A feu e uy
& IR G|

The pie chart given below shows the spending of a family on various heads

during a month in percent. / {13 & Tt urs-a1d v uRarR grRT fafdy #ef ) e

el # fu e W # ufewa A gwifar 81
Total monthly expenditure/ $d HIRI® ad=32,000
Fuel /28T, 9% Rent,/TEram

14%

Education,/TEr=m
15%

Food,/ 8=,
45%

Expenditure on fuel is what percent of expenditure on Food?/ éﬂﬁwﬁﬂﬂw
@d, e W fo5d ¢ @ d 1 fam ufesma g2

1. 35%
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2. 20%

3. 60%

4. 75%

Correct Answer :-
e 20%

54) A person who is unconscious, not breathing, has a weak pulse, needs:/ T Jfad 3819 8,
TR 8T & TeT ¢ 3R Suat Arst dhft/ ek B, 3/ TTfRu|

1. CPR

2. Hiemlick maneuver/ gigAfd® gf%

3. Rescue breathing/dd1d 419

4. Back blows and chest thrusts/ 1& TR egfear 3R BT R ¢

Correct Answer :-

» Rescue breathing/sdTd Y&

55) Which one of the following diagram represents the relationship between

automobiles, cars and motorcycles?/ f-@ # 9§ &9 Wt IR pfa sifciwtarsa,
PR 3R HieATS P & AT ¥ P il 82

. (j\;
e

Topic:- Grad_Managerial Skill
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1) Kasturba Gandhi Education Scheme is related to:/ seqzar wieft frear T

T grafead gl
1. Girl education/ aferaT forer
2. Adult education/ 3%+ (i) forer
3. Child labour education/ aTer =TT fareT

4. Tribal education/ ST farer

Correct Answer :-

« Girl education/ =TfersT forem

2) Visual Communication includes:/ 357 991X ® ATHA §:
1. Body language/ e/i< &t srr

2. Facial Expressions/ 9g< & ga-ATd

3. Gestures/ gra-919

4. All of the above/ STd T+t

Correct Answer :-

« All of the above/ 393 asft

3) Which of the following Five Year Plan is also known as Rolling plan?/ g

YA ATSHET T TATel JTSHT HI Fgd 872

1. First Five Year Plan/ ugeft d=aeiar IrsT

2. Second Five Year Plan/ ga¥t d=ati= Jrsr
3. Sixth Five Year Plan/ =&t 9=ati=s TrsmT

4. Tenth Five Year Plan/ Hd&T 9=@wd ATST

Correct Answer :-

« Sixth Five Year Plan/ 32 d=adia IrsHT

4) Which one gave management skill?/ fFa« Teem sterer faam a2
1. Robert Katz/ & &res

2. Joe Gracie/ ST Ut

3. Berne/ a9

4. All of these/ ST T+t

Correct Answer :-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

« Robert Katz/ ¥fa¢ Fres

5) Chart contains series of /ATEH & S@dT I gl
1. Facts/T=at

2. Ideas/fF=mat

3. Message/@zert

4. All of the above/3IT=F T+t

Correct Answer :-

« All of the above/3Td T+t

6) Which type of approach is Television?/ I=ifaw g v iy gy &2
1. Individual approach/ a=fxF# gfa

2. Group approach/ amqfE® TgfT

3. Mass approach/ & qgfa

4. None of the above/ SYZIF & & #Is g1

Correct Answer :-

« Mass approach/ @ds Tgfa

7) Working conditions, status and salary are:/#¥ fRufaat, gRaa (¥2ed) Ua aa+ &-
1. Maintenance/ T@¥@Tq

2. Hygiene factor/ Fa=gdr &1

3. Job context/ F1¥ (319 Tvad

4. All of these/ 393k T+t

Correct Answer :-

« Job context/ FT () T=asf

8) What is “Green Gold"”?/ ‘T 91 FT §?
1. Tea/ 9@

2. Coffee/ wir

3. Gold/ &avt

4. Rice/ It1a«t
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Correct Answer :-

9) Name the author of the book “Primitive Culture”/ “Rifafes o< (snfew )"
TEqH & TATAAT T ATH FqTC

1. Majumdar/ ASHET
2. Lundberg/ d=a3t

3. Tylor/ a@«T

4. Malinowski/ \Tferdra=hy

Correct Answer :-

o Tylor/ e @«T

10) A field of study investigates the impact that individual, group and
structure have on behavior with organization is known as:/ 379 F 979 A8
U TS AT A<, GYg Td GXAAT o6 THTT I T(F-TSATA HLA AT TeTAT & &l £
STaT gl

1. Organizational change/ T AT qRad

2. Organizational behavior/ HT&ATcH® HaRX

3. Organizational stress/ S&ATcHS: TAT

4. All of these/ IuZraa T+t

Correct Answer :-

« Organizational behavior/ Si&ATHS SHAZ

11) Which state stands first in the length of roads in the country?/ 3s & gg#i
T AFATS F ATHA | HIA-9T ST Tg €A 9T g2

1. Maharashtra/ 9gmrg
2. Uttar Pradesh/ 39 W=t
3. Madhya Pradesh/ @& u=er

4. Rajasthan/ Trsream=

Correct Answer :-

« Maharashtra/ #gtg
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Which state produce maximum soya bean?/ F19-9T TST AT HT ATARTH AT
FLAT 872

1. Madhya Pradesh/ weg qaar
2. Uttar Pradesh/ 39 w=er

3. Bihar/ fagw

4. Rajasthan/ Trsream=

Correct Answer :-

« Madhya Pradesh/ w&x waar

13) Importance of demonstration method is:/ J=ei= f&fer &1 75 &:
1. Provide advantage of improved practice/ sgda< ST &7 ATH T&TH FHLAT
2. Shows the technique/ T&1s FortaT

3. It arouse interest/ &= W@ FHTAT

4. All of the above/ STd T+t

Correct Answer :-

« All of the above/ 393 T+t

14) What is the main objective of colour in visual aids?/ 327 g% AT § GO
T T ILLT FAT ZIaT 872

1. Colour makes the aid attractive/ I TgTa ATHIT FT T 41T &
2. Colour makes the aid boring/ T @gTa AT T A LH a7 &

3. Colour makes the aid dull/ &1 a8 ATRIT T FIHT T4 &

4. Colour makes the aid costly/ T TgTa# STHIAT FT FeHT 9110 &

Correct Answer :-

« Colour makes the aid attractive/ 31 HgT@® ATRAT T T a97d &

15) Rapid industrialization is the basic objective of: /di# sirenfiehr Hor
T AT 32T 8

1. Second Five Year Plan/ TaT =@ ATSTT
2. Third Five Year Plan/ Sr&<Y d=adi=r TrstAT
3. Fourth Five Year Plan/ =it d=adiT FrmT
4. Fifth Five Year Plan/ 9i=dT 9=5ad{i= TsAT
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Correct Answer :-

« Second Five Year Plan/ &I 9=9atig Frsi1

16) Which among the following is an informal method of social control?/ =%

q &I ATATH AE=07 6iY U sra=ries afyr 872
1. Custom/ fifa

2. Coercion/ srafies

3. Law/ &1

4. Education/ forear

Correct Answer :-

« Custom/ ffa

17) Which among the following is a motivational factor?/ 7% & ®9 T JTomary
FH &7

1. Security/ q¥a&

2. Desire/ z==1

3. Recognition/ AT=ar/E+ T
4. All of the above/ ST a+T
Correct Answer :-

« All of the above/ 393 T+t

18) Managerial grid was given by:/ Y5 (i T & off
1. Rensis Likert/ Rafas amsse

2. Blake and Mouton/ == Ue #Aised

3. Curt Lewin/ #¢ &=

4. All of these/ Swd T+t

Correct Answer :-
« Blake and Mouton/ % U& HI3eq

19) Weber conceived of sociology as a comprehensive science of social
1/ AT T GHTIATE FT FeqaT ATHTOTH ¥ ua faere fasm & =0 7 fiv of

1. Group/ 98
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2. Action/ FTHaTgr
3. Interaction/ sr=afwar

4, Institution/ &Jame

Correct Answer :-

« Action/ FraaTar

GET IT ON
Google Play

20) The factor that determines the change in population of a place is: /&

T i TAEEAT § TEATT TT FLA ATAT FICH &
1. Birth rate/ s/q 3%

2. Death rate/ gg =¥

3. Migration/ 9=

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 3w asft

21) Which among the following is an approach of communication?/ 7% & Fi9

AT HT TF T5d g7

1. Individual approach/ a=fxF# vgfa
2. Group approach/ ImgfE® Tgfa

3. Mass approach/ @dsi= qgfa

4. All of the above/ ST asft

Correct Answer :-

« All of the above/ 393 a+ft

22) Management skill is associated with:/ Y& Fia
1. Technical skill/ =T F1ereT

2. Human skill/ st #tere

3. Conceptual skill/ sTa&meoreas Hreret

4. All of these/ IU<rea T+t

Correct Answer :-

« All of these/ SuZrsa T+t
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23) Who coined the term “Primary Group”?/ “STafi#® 9qg” asa Fha TaT 97?
1. Comte/ &iw

2. Ginsberg/ st

3. Cooley/ Feft

4. Gisbert/ R

Correct Answer :-

. Cooley/ Tt

24) Maslow’s lower need include:/ #saT #t fAvax sraea=ar & arfie g:

1. Psychological safety/ AaTa=T== T2a
2. Security/ qzar
3. Social need/ AT ATa9T=FHar

4. Ego need/ g T smaeThar

Correct Answer :-
« Psychological safety/ adm&=THs qLaam

25) Studies of social interaction and group belong to which sociology?/

AT A ihaT UF 99g FT Je7a g qursreme & avafead g2
1. Urban sociology/ erg¥t FHTsterma

2. Macro sociology/ 9ga THTSIATE

3. Applied sociology/ I TIg<h TAHTSTATH

4, Micro sociology/ J&® THTSIATE

Correct Answer :-

« Micro sociology/ g&q HATSTH

26) National Sample Survey Organisation was established in:/ g THAT G0
TS it TATIAT H gs o

1. 1950
2. 1951
3.1952

4. 1953

Correct Answer :-
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27) Which one of the following is not a characteristic of Primary Group?/ 3%

" I ITATHEF TG T SATHALT Tl 57
1. Intimacy/ Farar/=tasdar

2. Closeness/ a#iar

3. Familiarity/ STH-Tg=m=/qai=a

4. Impersonality/ aafrsT

Correct Answer :-

« Impersonality/ fe=trer

28) Which state in India produces maximum Mica?/ STT<d FT HH-97 7T ATFH
(FTSHT) FT ATERTH ITUTET FHLAT 5?2

1. Madhya Pradesh/ @eg g2
2. Bihar/ fag®
3. Orissa/ =nf=am

4. Jammu and Kashmir/ S 3T FeHIT

Correct Answer :-

« Bihar/ fag™

29) The role is which aspect of status? /<%, 2RI (¥eq) FT Hi9-97 T2 87
1. Counter/ fareft/faadia

2. Dynamic/ wfaefier

3. Static/ Fax

4. Latent/ 9

Correct Answer :-

« Dynamic/ wfasfi=r

30) Summation of attitude of group is called:/ 9z % &A1 F IT HT g
&l

1. Motivation/ Szor

2. Morale/ 9qmae
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3. Both of the above/ I9Z=F =1
4. None of these/ U<k # & s dgl

Correct Answer :-

« Motivation/ Sz

31) Name one macro sociologist from the following: /37# & g8 FHTIATET T84T+
1. Simmel/ <

2. Goffman/Twa=

3. Weber/3@<

4. Durkheim/z@w

Correct Answer :-

« Durkheim/g@w

32) According to area which state is the largest?/ &=%a &I 32 ¥ FIA-9T TT a9
JETE?

1. Madhya Pradesh/ weg gaor
2. Rajasthan/ Trs=ama
3. Uttar Pradesh/ 39< w=9T

4. Maharashtra/ #gery

Correct Answer :-
« Rajasthan/ Trsream=

33) Individual who achieve goal through other people is/are: /3= T % ATEAT
| & TTH HA 11/ ATE 8l

1. Individual/ =f=mTT
2. Group/ 993

3. Manager/ Y94

4. All of the above/ 374w a+ft

Correct Answer :-

« Manager/ Ja4

Topic:- Grad_RC_Managerial Skill
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1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: fwaferfea Terter At eaTqa® Tehe 39 A= faF 79 qgiaswedt Te71 § g1 faweq
T =TI A

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfaa arsat o ATedw & HH HTAT, GA-ATST HLA ATA ARM S [EIOAT 3 TN G HFA § AGea ol
AT AT TET 81 A ST T 99T F 99, TIEErsi & o9, 99 (A6 Ud GFhae),
FATeA, TR, ATAST T (KTATT SATT) T TSITT FHHE 9=, 3T A=AT fEhee FT s@ Ama
% BT 8| forfea arss, Ariont 1 9918 39 % 1A &l 37T 9 I979 | Gg1adT HT @I gl T T 05
TG THT TS AT (<7 ITd &1 I qs8 IR | 98 97 9hd & < IT0T gva¥ (oA ST T gl
forfera ersg srfare sraTiorsE |t STaT 17T oree & orfve S @)1 TR st A PreTsw A ag
AR T faeare fGaT a1 § S ST F3aT g1 AGT FT I ITHT T AR HEAT, STH & ST
3T S8 THSATAT TS ATE FTAT 21T g1 T The1oh 31501 A a9 & T 2

Home makers and farm people are communicated with what form? /g sic

AAT-TST F AT A A R ' | g9 R STar g2
1. Written words/ forfer orss
2. Oral talks/ |ifers arat

3. Mass media/ STHEATT ATe9H

4, Seminars/ |ItSaT

Correct Answer :-

« Written words/ ferfera ers=

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fawaferfera werter it earaga® qehe 39+ A= f2F 77 sglaswedt gedi § a2t fasweq
T FIT HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
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to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfaa arsat o ATedw & G HIAT, GA-ATST HLA ATA ARME S [EIOAT % TN AL HFA § AGea ot
AT AT T 81 A ST g7 99T RuT F 9@, TEErsi & o9, 99 (A6 Ud GFhae),
FATeA, TRU, ATAST AT (AT SATT) T TSTTT FHHE 9, 3T A=AT fEhee FT s@ Amae
% BT 8| forfea arss, Ariont 1 9978 39 % 1A 1 37T A9 I979 | Tg1adT HT @I gl T T 058
TG THT TS AT (<7 ITd &1 FrFaa s8 IR § 98 7 9hd & i< IT0T gva¥ (oA ST 9haT gl
orfera ersg srfar s wreT StTaT g1 orse & orfve 2t 31 Ff o=t o< Rrar smu av ag
AR AT fFeare fTaT a1 § S ST F3aT g1 AT FT I ITHT 4T AR HEAT, STH & ST
3T I8 THHATAT TS ATE FIAT 1T g1 T The 1o =0T A a7 & T 2|

What are written by Extension Staff?/ fa=am< T g=T F41 fora simar 82

1. Newspaper stories/ FHTH 97 % o
2. Magazine articles/ 93Tt & o

3. Leaflets/ o= (sfT®ete)

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 393 T+t

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: Mwferfea e 1 sam@® Teae 39+ A1+ ¥ T glawedy weai & agr fawew
T =TI H

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

o orsal & ATEAH § HATX FHIAT, AA-ATET FLA AT AN AL [FIOAT 6 AT FATL HLA H Ageaqur
AT T TET 81 A ST R 99T RuT & 9@, TEErsi & o, 99 (A6 Ud GFhae),
FoAfed, T, st el (ST i) 2 T i gam=m oo, 3 IRy e &1 a@s aman
% BT 8| orfaa arsx, AT 7 918 39 % 1A T 3T U9 IAT9 | GgIdT HT @I gl T T M5
TG THT TS AT (o ITd &1 oI rs8 IR & 92 97 9hd § < IT07 gva¥ (o ST 99T gl
orfera ersg srfars sTRTORR /AT StTaT g1 orse § orfve St g1 afe ==t a<g feraT smu v ag
AT T freame faT 3aT 8 oK IR AT 81 G T S29T ST &1 SHh9d HEAT, IAH E ST
3T I7¢ GHHATAT UF ITE HLAT AT gl T TheAToh A= A@H o A TGgIaF 3
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Which work is made interesting for the rural people?/ ITHivll F T FIF-TT FTH Hl
ST a9 AT 872

1. Participatory work/ sgariiar wr
2. Advisory work/ IdTg < &1 w1

3. Referring work/ Soeor/a=asi= =T &5
4. Interesting work/ &= w1

Correct Answer :-

« Advisory work/ eTg a7 FT w1

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: fMwaferfea Terer 1 sam@s Teae 3a+ A+ o 7 sglawedt weai § a5t fawew
& FAT HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

o orsal & ATedH § AT FHIAT, AAN-ATST HLA AT AT L RIOAT 6 TTT AT HLA H Tgeaqur
AT T TET 8| FAeaT ST R0 99T Ru & 9@, sl & o, 99 (A6 Ug GFhae),
FoATed, TR, grasiia &AMl (ST ) T TTT FH=E 9, 3 =97 e 1 d@ aman
% T 3| forfra ersg, arHion T T8 <9 % 1A 1 3T U= aA7 § Ggraar HL @l 8| aIef T T6a
T AT F18 qAT &3 AT 8| Forfera ere8 S9m § 92 ST 9 & 3 ST gvad fordT ST ahar gl
orfera ersg arfares SRR /AT SITaT g1 orse § orfve Sidt g1 ITS =&t a<g foraT 9w v ag
T T freaTe e a7 & o) IR F3aT 31 S FT ITT ITHT EFT AR HEAT, ITH & ST
3T I7g GHHATAT U ITE FLAT AT gl T ThATh =G A@H o | TgIaF g

The written word is regarded as more:/ g asz sfe= HTAT STaT gl

1. Pleasing/ 91Tt
2. Refreshing/ arefY &= araT

3. Authentic/ gmaTiUr
4. Boring/ #i7&

Correct Answer :-

« Authentic/ yraTiorF
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5) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: i e 1 samEs Teae 3a+ = ¥ 1 sghawedt weai & a5t Ao
T =TI A

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./

forfera st o ATedw & G HIAT, WA -ATST HLA ATA ARM S RO % TN G HFA § AGea ot
AT AT T 81 FAeaT ST g7 49THRuT F 99, TEErsl § o9, 99 (A6 UF GFhde),
FATeA, TRU, ATASTh T (AT SATT) T TSTTT FHHE 9, i< W=7 fEhee FT s Ama
9% BT 8| forfea arss, ATHont 1 9978 39 % 1A T 3T 9 IA79 | Gg1adT HT @I gl T T 058
TG THT TS AT (<7 TTd &1 oI as8 IR § 98 7 9d & i< IT07 gva¥ (oA ST 9T gl
rfera ersg srfars s WAt StTaT g1 erse § orfve 2t 31 Ffe o=t a<g RraT smu av 99
T T freame faT 3aT § o IR AT 81 AT T ST9T ST &7 ShUd HEAT, IAH FF ST
3T S8 THSATAT TS ATE FTAT 1T g1 T The 1o =0T A a9 A T 2

What is the purpose of written work?/ foifea 19 &1 Sge7 Fa7 graT 82

1. Attract their attention/ 3T €T+ SRt FLAT
2. Interest them/ 37¥ == ST
3. Make them understand and remember/ 3¢ THATAT ST I18 faT=T

4. All of the above/ ST T

Correct Answer :-

« All of the above/ 373 T+t

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: Maferfad semisr &1 eamqEs TeHt 6+ A (o3 T giasmedy weai § dgf fawmed
T FAT HL|

Communication through written words is playing a great part in
communicating with farm people and the home makers. Newspaper stories,
magazine articles, leaflets, pamphlets, bulletins, circular letters, wall
newspapers, and radio scripts are increasingly being written by the
extension staff. The written word is helping make advisory work with rural
people more interesting. Spoken words are forgotten after some time. The
written words can be put up for reading another time, and it can be referred
to. The written word is regarded as more authentic. The written word has
power. If written well it convinces and motivates people the purpose of
writing is to attract their attention, interest them, make them understand
and remember. These techniques help one in becoming a good writer./
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i arsat o ATETH | HAT HTAT, GATATST HLA AT AR S [ TO0AT 6 TN AT FA § AGa ol
AT AT T 81 AR T g 99T F 9w, TEErsi § A9, 99 (Ahde Ud iFhde),
FATEH, T, ATAST S AT (AT AT I TITT FHATAT I, i A=AT e 7A@ ama
% T 3| g erse, areiont 1 gomg 39 F w7 ST A I & GETIar ¥ TG 1 S T e
TS G9T 1< AT 2F I1d 51 T ors2 =T & 92 ST q6hd 3 3 SAHT geas fordT 1 99ha T 2l
forfera ars srfars sraTiore wreT StTaT &1 ferfRra oree & afxe Y @)1 afR o= A PreT STu v ag
AT T forsame (T 34T § o ST AT 81 @ FT STT SAHT &qTH A Ud HLAT, SAH S ST
3T I7¢ GHATAT TS ITE HX(AT ZIAT gl T TheATh 7= AGH o A TgTaF 3

The written words help a person become a:/ i@ ass 99+ # 9g1a g
1. Good teacher/ =1 AT

2. Good writer/ I=a1 @+

3. Good student/ sr=ar fa=met

4. Good person/ =T =A<k

Correct Answer :-

« Good writer/ I==1 9@F

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: et Terter it eqTaqa® TeHhe 39+ A= faF 79 qgiaswedt Teq1 § g1 faweq
T FIT H

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAwTE, FTeq 3T Ik STANT H THAAT 3 T, TS 1 FAAT STUG AT TOTAT
ol e & w6 o et st 1 S=T SRRy o & § R 10T 59 07 9 gAT & q0n
T TH-GEAL & ST ITH AT (<IAT g1 TH ST & AT AT G197 ITUE A A §U IS Twq e TF 99 T
& Il # Ug ST gl T ITUE FAH (Aa-fATEa) awg & Rreg gzt it afemar #3 % forg 9= =
gl T Fre-le TUT grd & ST A=afeer § AT AT S+ TSI T ITGHAT FLd g1 WG S8 [aawrasiier 391 4,
AT T TR HEA I & 9 (IT AT TET & SV ATF F A TAR1AAT o6 (7T ST T SATUT ST
TeRta # forae daer & aregw & fAfergar & whar yam= F9m

What has the world developed in recent years?/ a1 7 g1 & % aut # 47 A
AT 87
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1. Radio communication System/ Y231 H=T¥ TUITeAt

2. Satellite Communication System/ 3UUg H=TT TUITeAT
3. Online Communication System/ FaTET S=TL TOITAT
4. None of the above/ 394 & & %I g1

Correct Answer :-

« Satellite Communication System/ STIg =T TUrTet

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: et Terer 1 eqTqa® TeHhe Iq A9 faF TF qgiaswedt Te71 § dgi fasheq
T FIT HL

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAhTE, FTeq 3T Ik STANT H THAAT 6 T, TS 1 FAAT STAG AT TOTAT
R e & w6 o et St 81 S=T SRRy o & § R 1T 39 Y07 9 gAT & q0n
T TH-GAL & ST ITH AT (<AT g1 TH ST & AT AT G197 ITUE A A §U TS T TF 99 T
& Il H Ug ST gl T IR FAH (AWA-ATH) awg & Rreg gzt it afiemar #33 % forg S =
g T Fre-gie fue gra € S sreateer § gt a1 o7 Ugl it afenaT #3a &1 9Tea S fAwraefier 3o 4,
AT T T&TH LA < & I TAT ST @7 § ST AT F A9 TS w1l 6 forg S 99T $i
TeRta # forae daer & aregw & fAfergar & whar yam F9m

Communication technology has brought the world:/ =T ST gFAAT & AR &
F AT B

1. Far/ ¥
2. Close/ @i

3. Near/ 9=

4. All of these/ IuZrsa T+t

Correct Answer :-
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9) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: i e 1 samEs Teae 3a+ = ¥ 1 sghawedt weai & a5t Ao
T =TI A

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAHTE, Feq 3T Ik STANT H THAAT 6 T, TS 1 FAAT STUG AT TOTAT
ol e & w16 T et St 81 S=T SRRy o & § R 10T 59 Y07 9 gAT & q0n
T TH-GAL & AT ITH AT (AT g1 TH ST & AT AT G297 ITU7 A A §U IS T TF q9 T
& Il # Ug ST gl T ITUE FAH (AA-FATEa) awg & Rreg gzt it afemar 33 % forg s =
gl T Fre-gie fue gra € ST sreateer § gt a1 o7 Ugi it aienaT #ea &1 a9 fAawraefier 3o 4,
AT T T FLA I & 9 (IT AT TET & SV ATF F A TAR1AAT o6 (7T ST T HTUT S
eRta # forae daer & aregw & fAfergar & whar ya = H9m

What is Satellite? /37Ug #7182

1. Artificial Object/ Ffw a&g
2. Imaginary object/ Feafas a&q

3. Original object/ 9= a+]
4. Electronic object/ zaeifa® aeg

Correct Answer :-

« Artificial Object/ Ffw a=g

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAzsr: fwferfea Terter it eaTqa® Tede 39+ A= faF 79 qgiasmedt Teq1 § g1 faweq
T =TI H

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
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languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I AT TUTAT & TAHTE, FTeq 3T Ik STANT H THAAT 3 T, TS 1 FAAT STUG AT TOTAT
g X9 & w16 T et St 1 S=T SRRy o & § SR 10T 59 Y07 9 gAT & q0n
T TH-GAL & AT ITH AT (AT g1 TH ST & AT AT G197 ITT7 A A §U IS Twq e TF 99 T
& Il H UgH ST gl T ITUE FAH (AWa-fATEa) avg & Rreg gt it afemar 39 % forg S =
gl T Fre-gie fue gra € ST sreateer § gt a1 o Ugl it aienaT #ed &1 9Tea 9 fAewraefier 3o 4,
Tepfa, F, FA-Srerary fSraarsit, srarsi sufe & sreafers e femme &, =it taraed aw
AT T T FLA I & 9 (T AT TET & SV ATF F A TAR1AAT o6 1T TATHIT SHTUT ST
eRfa # forae daer & aregw & fAfergar & whar yam F9m

India has diversity in:/ ¥=a & # fafaear 21

1. Tradition/ozFazra

2. Culture/dae™ (Fea7)

3. Religion/a&

4. None of the above/IwaI<h & & #IE Tl

Correct Answer :-

o Culture/sa4+ (Fev)

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fadser: fawaforfad eriar it seamds Tede Iua A1+ o 73 aglasmedt wet 7 adt e
T =TI H

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

I TATT TOTAT 3 TAhTe, Fiea < SUh STANT A THAAT % T, AT At FAAT SUAG HAT TOTAT
TR X9 & 6T T et St 81 S=T SRRt o & § SR T 39 Y07 9 AT & q0n
T TH-GAL & AT ITH AT (ST g1 TH T & AT AT €8T ITU7 A 1A g A T TF I9 T
& 9 § 9T 1T g1 ¥ STIE FHH (ArHa-[ARa) awq g g gzt &t aRewaT #39 & e ssim w1
g1 T Fre-gie fue gra € ST sreateer § gt a1 o Ugl it aienaT #3d &1 9Ta S fAawraefier 3o 4,
Tepfa, F, FR-Srerary fSraarsit, srarsi suf & sreafers e femme &, wwim tmraed aw
AT T T FLA I q&F 9 (IT ST TET & SV ATF F A TAR1AAT o6 (1T ST T STUT S
eRta # forae daer & aregw & fAferear & wwhar ya = F3m
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What is the thrust area of electro-communication system? /3@ 91 Yot &
e &9 9 e & a9« fear sir wr 82

1. Provide fast communication system/ s S=T% TOTTell T&T FAT

2. Provide free mass communication to all/ @+t &1 {7:[eF SHa=1 T2 FHAT
3. Provide unique communication system/ sITa ™ H=TE YOITAT T&TH AT

4. Provide artificial communication system/ FE® =T YOIt Y& FHLAT

Correct Answer :-

« Provide fast communication system/ s S=TT TOITeAT T&TH FHAT

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fadser: fawaforfad weriar it o Tee Iua A1+ o 73 aglasmedt wet 7 adt ey
T FAT HL|

With the evolution, revolution and breakthrough in the use of electro-
communication system, the world today has gone way far ahead in
developing Satellite Communication System. A leap in communication
technology has brought the world nearer to each other and the messages
are flashed in seconds just after their origin to the destination of their users
through satellites. These satellites are an artificial object put into orbit
around earth. These are small planets that moves through space around the
earth or other planets. In the developing country like India, tremendous
amount of diversity in culture, agriculture, agro-climatic variations,
languages, exists hence the major thrust is to provide fastest
communication system that will provide unity among diversity through
message coated with local language and culture for higher and quick
acceptability./

FTIA TAT TUITAT o FhTe, Fieq < STh STANT A THAAT T, AT hi FAAT SUAS HAT TOTAT
TR X § 6T 0T e AT 81 ST ST=ITHeRT o &5 | SRR AT 39 FAT 9 AT & 00
T TH-TAY % ATYH ITE AT FIAT g1 TH AT F AT AT H3<T IIUE A BT g (I TwqeT % 99 FF
& 9 § 9T STaT gl F STIE FHH (ArHa-[Ra) awq g g gzt &t aRewAT #3 & fore ssi w1
gl T Fre-gie fue gra € ST sreateer § gt a7 o UgT it IHhaT F3d &1 9Tea S fawraefie 3o 4,
Tepfa, F, FR-Srerarg fSraarsit, srarsi sufy & sreafers e e &, wie tmraeg aw
AT T TG FLA I & 9 (IT AT TET & ST ATF T A TAR1AAT o6 (1T ST T ST S
TeRfa § forae gaer % Areaw ¥ fAfrear # vhar ya= w49m

What is the message coated with?/ sasr fres foraer grar g2
1. Local technique/ =TT qa =

2. Local language/ =iz {rom

3. Local surrounding/ =TT afeaer

4. Local climate/ =g ST@ag

Correct Answer :-

« Local language/ ®T=1T ATHT
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Topic:- Grad_Child Care and Education

1) What is the proportion of New born child face & head?/ Wﬁl’{[%%@ﬂm
R & Mrarg ® feaar srgura gar 82

1. 1:8
2.1:9
3.1:10

4.1:11

Correct Answer :-

« 1:8

2) IQ of Mentally Retarded children is:/ AF¥® &0 A feg arae o gix-afes
fpat gt 82

1.95
2. 85
3.90
4.92

Correct Answer :-

3) Who is the founder of cognitive development theory?/ SJHTH® fa&rg
Rrgra & S=Ierdr #1482

1. Jean piaget/ ISERCEIS]
2. Skinner/ TR
3. Koher/ IR

4. None of these/ SRIgd & A or>\|=\5r=|3°f

Correct Answer :-

« Jean piaget/ ISEACEIS]

4) Among these which is not effect of Heredity? /398 & S dRIIGHH BT YHTT Tl

2

1. Effect on Intelligence / §fg IR UHTd
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2. Effect on character/ T TR g1
3. Effect on personality/ Jfadd TR UHTG
4. None of these / B‘qﬁaﬁﬁ@ﬁiﬂ_ﬁ

Correct Answer :-

« Effect on character/ IRA W YHTG

5) Law of Growth is/ 3fg & #1919 fFam 82

1. Growth Proceed from near to far/ q@ﬁlﬁ@fﬁaﬁ SﬁTﬂqﬁ-{@?ﬁ%
2. Growth is continuous & Oder/ gfg FRER TUT FHIR Bt §

3. Growth Proceeds from head to foot/ 3fg RR ¥ R &1 iR gedl §

4. All of the above/ SWRIdd gt

Correct Answer :-

« All of the above/ IURlad g

6) When did Nation Education policy started?/ IT¢Ia Rigm -ifa &1 yvey &9 fHar
T™T?

1. 1988
2.1986
3.1999
4, 1997
Correct Answer :-

- 1986

7) By whom Balwadi was conducted?/ STaare! f5ad gRT Harferd gidl 82
1. Welfare extension project/ &<dmul [a&IR aroT

2. Indian counsel of child welfare/ $f&a- HTIRIA T AT5ee dABIAR

3. Central Social welfare Board/ Icd TIRd dahaR I8

4. None of these/ IWRIdd § I HIs gl

Correct Answer :-

« Welfare extension project/ FH U faEIR aioHT
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8) Which is the Areas of Human development?/ A4 AT &1 & P A1 82
1. Physical/w

2. Social/ |HISTS

3. Cognitive/ IMTHD

4. Physical, Social, Cognitive/ TR, HTHID, JIHD

Correct Answer :-

« Physical, Social, Cognitive/ IRIR®, FMHIN®, TATHD

9) What is the IQ of Genius or Gifted Children?/ UfqUTa sTa® ot gig-afsd
fpa g 82

1. 130-140
2. 140-150
3.135-160

4.165-170

Correct Answer :-

« 130-140

10) What Firstly includes for security of vulnerable children?/ TNyoreite arere!
& fore grem o vy w1 wfvifea 82

1. Education/ Tram
2. Recreation/ HARGSH
3. Social/ IS
4. Dietary/ 3TERI

Correct Answer :-
o Education/ fRreqm

11) What is the main Source of AIDS?/ TS &1 YBI Idld ®I< AT 82
1. Prostitution/ a‘\’?ﬂ?{ﬁ[

2. Saliva/ dRR

3. Cough/ @t

4. None of these/ IWRIGI & ¥ &5 ol
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Correct Answer :-

« Prostitution/ a‘@ﬂ?{ﬁf

12) Informal education is related to? / 3HuaTi® fRUem & T Wit 32
1. Pre-School Education/ ELEf‘\’ﬂFITfiT&H

2. School Education/ RUSIRELI

3. Special Education/ faf2re e

4. All of the above/ SWRIdd gt

Correct Answer :-

« Pre-School Education/ qﬁwﬁr&n

13) Which is the Characteristics of infancy?/ =R & fa=ivdr 1= | 82
1. Mental Activities/ AR fohard -

2. Dependency on others/ @fftﬁﬁﬁﬁﬂ

3. Dispose of emotions/ o &1 UeRf

4. All of the above/ SWRTead T

Correct Answer :-

« All of the above/ IWRigd g+t

14) Which type of children are called exceptional children?/ f&= aTa®! &1
fafrse sTa® Fe1 wiTar 82

1. Genius or Gifted children/ PIGICIEECINEE

2. Physically Handicapped children/ RIND G{&I'HHT@TQEHW
3. Mentally Retarded children/ AFR® &9 ¥ A=y dTcie®

4. All of the above/ IWRIE G

Correct Answer :-

« All of the above/ IWRIad It
15) What is the duration of childhood?/ STeaTaRIT &1 ST T %?-
1. 0-2 Years

2. 3-12 Years
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3. 2-14 Years
4, 1-6 Years

Correct Answer :-

e 3-12 Years

16) How quality is related with creativity?/ 0T GoHTH®dT A HA Tafd 82

1. Introvert/ 3fdvgw!
2. Extrovert/ EI%H@

3. Thinking/ |=
4. All of the above/ IR g+t

Correct Answer :-

« Thinking/ 9=

17) The Proximodistal law is of Principle/ Fi®e @ R @1 fam
&1 Ry 8-

1. Development/ f[d&™

2. Environment/ dTdrd<ul

3. Heredity/ d=IIshH
4. Birth/ &4

Correct Answer :-

« Development/ fd&™

18) When was Creches established?/ ST TR & RIMYAT $d Pi 15?2
1. 1982
2. 1986
3.1977

4. 1989

Correct Answer :-

« 1977

19)
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What is the population of Primary Health centre?/ WY W@ & B S EEIT
fpa-it 82

1. 60,000
2. 50,000
3. 30,000

4. 40,000

Correct Answer :-

20) Learning is a universal Process/ ST U ATaHIT¥® ufshal-
1. Specially for particular age/ 31g fa=Iy

2. Only for Boys/ Had dsdh| & o

3. Available in all person/ Wwﬂﬁﬁwﬁlﬁﬂ%

4. None of these/ IWITI & ¥ s ol

Correct Answer :-

« Available in all person/ WEITUﬂﬁUT!ﬂGIFﬁ%

21) What is the duration of Prenatal? /'ﬂlm?ﬁﬁ 3raf¥ fea-t Eﬂ?ﬁ %?
1. 9 Month/ 9 HTg

2. 8 Month/ 8 Hlg

3.2 Month/ 2 Hlg

4. 3 Month/ 3 HIg

Correct Answer :-

« 9 Month/ 9 HIg

22) What are the activities of WHO?/ WHO &t TfafafRmr o @ 2
1. Environmental health/ JITaRUNY W

2. Development of Men Power/ A4 Wfad &1 [ae™g

3. Prevention and control of Specific disease/ fafme I @1 ARy T fa=o
4. All of the above/ IWRIE G4

Correct Answer :-
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« All of the above/ IWRIad FH

23) Meaning of physical growth cycle is:/ IRI¥® gfg T F ufvyrar 3:
1. It Occurs in period, Phases/ H’s’ﬁﬁ-ﬂﬁ%ﬁﬂ%, RT3

2. Regular rate/ Fafa )

3. Rapid period/ did Ifd

4. All of the above/ IuRlad g+t

Correct Answer :-

« All of the above/ SURIad Tt

24) When was First Rashtriya Bal Board started?/ UYH I 976 SIS $F YREH
fopaT mar?

1. December-1974/ [&O=R-1974
2. October-1984/ 3{d¢daR-1984
3. August-1990/ 3Td-1990

4. January-1991/ SHd<-1991

Correct Answer :-
« December-1974/ fdqwR-1974

25) In India which year Rashtriya Balniti was started?/ mﬁ‘%a&w&ﬂu
CIGEICRIE I RIES

1. 1970
2. 1980
3.1974

4, 1973

Correct Answer :-

« 1974

26) Learning capacity of children in preschool is based on/ qﬁwmaﬁ
e Ft errar fra w snurfa 82

1. Personal based capacity/ fdiTd TTRd =T

2. Syllabus based design/ TT&I®HH MY T
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3. Government based Programme/ DI NURT STdHH
4. Teacher Based Capacity/ Rrerd e e

Correct Answer :-

« Teacher Based Capacity/ Rrere smemfid e

27) Characteristics of creativity is/ mﬁﬁﬁwﬁﬁ'—lﬁ %?
1. Way of Thinking/ ﬁl?ﬂﬁ@ﬂﬂw

2. Goal directed/ @ed - fAdfRrd

3. Unique/ 3Ydqd
4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ IWRIe GH

28) Montessori method is related to?/ Ao fafy fra ddfta &2

1. Education of mentally retarded children/ ARG ey S1a® o1 e

2. Education of Genius children/ UfHTdT STcieh! & fRIg

3. Education of genious children/ UfaHTa STA®! &1 R

4. Education of physically handicapped children/IRIR® HWWWﬁﬁf&ﬂ
5. All of the above/ JURIdd JHI

Correct Answer :-
« Education of mentally retarded children/ HFRI® = aTci® o1 e

29) What are the types of motor development?/ 9 4 3 P 1 fpurers fawra
BT UPR 82

1. Gross movement/ &Jd Tfafafaar

2. Fine motor skill/ Y& e &I
3. Gross movement & fine motor skill/ RI@ Tfafafal s
4. All of the above/ SWRIdd gt

Correct Answer :-

« Gross movement & fine motor skill/ WWW
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30) Which is the important part of Human teeth?/ UTHd &id T W™ YT I I

3

1. Enamel/ Qﬁﬂ?{
2. Keratin/ ffeq
3. Tolin/ @M

4. Dentin/ So¢iH

Correct Answer :-

. Dentin/ &

31) Transmission of Traits from parents to off springs/ ATdT fUdr ¥ =11 &I
S T 0T U gl 82

1. Character/ IfiA
2. Heredity/ d=IIshH
3. Environment/ dTdrdxul

4, Habit/ 3flqd

Correct Answer :-

« Heredity/ =TI H

32) What is the Respiration rate in new born?/ Wﬁmaﬁwﬁﬁﬂ'ﬁﬁ?ﬁ

a2

1. 80-100 Per Minute/ 80-100 Ufd fifHe
2. 35-50 Per Minute/ 35-50 Ufd fafie

3. 40-45 Per Minute/ 40-45 Wfd fiifae

4. 50-60 Per Minute/ 50-60 Ufd fife

Correct Answer :-
« 35-50 Per Minute/ 35-50 Ufd fafde

33) Which is the method use for educating Hard hearing children/ &9 g+ ard
TP & o IuaT o1 715 Rreror iyl w1 <t 82

1. Manual Method/ g% fafy
2. Oral Method; i fafY
3. Sign language Method/ g T fafy


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

34) One Ounce Milk give calories/ T 3\ g A FARY U

gIelt 8-

1. 30-40 Calories/ 30-40 PRI

2. 35-45 Calories/ 35-45 B!
3. 18-20 Calories/ 18-20 &Rt
4. 37-50 Calories/ 37-50 ®aR

Correct Answer :-

« 18-20 Calories/ 18-20 BaR!

35) Emotions in Children are/ STa®! & Ha¥ FIT id &-
1. Absent/ 3FURIA

2. Permanent/ Rﬂ’sc

3. Imbalanced/ 3rqferd
4. None of these/ IWRIad H ¥ PIs g

Correct Answer :-

« Imbalanced/ 3fqfeid

36) By which Law of Mendal is Related?/ Avsd &1 foraw foaa wefid &2
1. Environment/ dTdraxul

2. Development/ f[d&T

3. Growth/ ?{@

4. Heredity/ d=IIshH

Correct Answer :-

« Heredity/ 9= H

37) According to draver what are the kinds of aesthetic imagination?/ = A

¥ TR & I HT & DI I PR 32
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1. Artistic Imagination/ ®dATH®D b U]

2. Phantastic Imagination/ A1 &gl

3. Artistic & Phantastic Imagination/ ®alcHd Ud HIaXT Hedl

4. None of these/ SRiad & A do\lir:lﬁ

Correct Answer :-

« Artistic & Phantastic Imagination/ &% Ud AT BT

38) What is the Pulse rate in New born?/ TasiTd @1 ATa! fd fpda-t gidl 82
1. 120 per Minute/ 120 ufd fafae

2. 125 per Minute/ 125 9fd fife

3. 130 per Minute/ 130 9fd fafae

4. 135 per Minute/ 135 gfd fafae

Correct Answer :-

« 120 per Minute/ 120 9fd fafae

39) Indian council of child welfare is related to?/ HR<a Y] weamor afufa fead
Tafia 82

1. International child welfare union/ 3{dRTSCIT dTd B0l HY

2. Supplementary Nutrition programme/ WWW

3. Central Social welfare Board/ B GHS S dis

4. None of these/ SWRIGd H T &5 Tal

Correct Answer :-
« International child welfare union/ RIS ST HedT0l Y

40) Central Social welfare Board is a organization/ B JHTS
S0 s Th TRT &-

1. Government/ BRI
2. Semi government/ &@Wlﬁ
3. Private/ UTgdc

4. Independent/ ¥da

Correct Answer :-
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« Semi government/ &Iﬁwrﬁ

41) When did UNICEF Programme for street children started?/ g-iI% gRT
SUERT 9= & ford SrishH ®a YRy foBar mar?

1. 1992-93 Year
2. 1994-95 Year
3.1993-94 Year
4. 1995-96 Year
Correct Answer :-
e« 1992-93 Year

42) How many kind of physically Handicapped children are?/ TR sremar A
gad fafi=1 R & 919 39 3 82

1. Blind children/ 3 STd%

2. Hard Hearing children/ Eb‘ﬂv&iﬂ CINKEINES
3. Crippled children/ 3U7 dTcich
4. All of the above/ IWRIad gt

Correct Answer :-

. All of the above/ SURIdd g

43) Operant conditioning Theory given by/ UgaT &1 g o= fear ur?
1. Skinner/f@b_—R

2. Kohler/ ®IgeR

3. Kurt lewins/ H dAfaT

4. Pavlov/ iGN

Correct Answer :-

« Skinner/R&R

44) Curiosity reaches maximum level in which stage?/ ﬁﬁlﬁﬁﬁfmmﬁ
WA W1 R Tt 82

1. Prenatal/ TTHa=a
2. Adolescence/ T RTaRI
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3. Childhood/ STeaTaRIT
4. Adulthood, TIGaRIT

Correct Answer :-

« Childhood/ STedTa®IT

GET IT ON
Google Play

45) Child Infancy is called:/ METRIT F TAF B FT Hed &2
1. Neonate/ Fduird fRIg

2. Zygote/ ol

3. Babyhood/ ddud

4. Embryo/ YUr

Correct Answer :-

« Neonate/ =TawqiTd fIg]
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